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Tecnologia industrial

Seérie 1

Primera part
Exercici 1
Ql b Q2 c Q3 a Q4 c Q5 d

Exercici 2
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Segona part

OPCIO A

Exercici 3
50-18 50-18

a) 75=0,8-8,9- =0,444; 17z =0,66—-3,2- =0,532

800
L’opcié més eficient és triar el model de captador B.

800

E.
b) Ega=Cp Ce AT=57,06 MJ = 15,85 kWh; Eggpar = ;‘a =107,3 MJ = 29,79 kWh
B

E, t S .
Shecessaria = %ar/ = 4,655 m?; w =2,217 = Calen n =3 captadors.
50-18
c) ng'=0,66—3,2- 700 =0,404; Egyar=nSI1't=20,16 kWh

Etermica = 78" Esolar = 8,145 kWh = Eeiectr = Edia — Etermica = 7,705 KWh
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Exercici 4
8) Wiods = e = 44,80 rad/s; Wmoor = -2 = 1018 rad/s
roda (d/2) motor T
b) Pmotor = Zmotor @motor = 6,109 kW
_ _ Proda _ _
C) Thotal = Teng Mcad = P = Proda = Pmotor 7leng Tlcad = 4,674 KW
motor

— — . . Pmec _ o
Proda = Pmec =mgvsina = a = arcsin (m g v) =13,22

— _ Proda _
d) Proda = lfoda Wroda = lroda = =104,3 Nm

Wroda
OPCIO B
Exercici 3
P = i = R= u® =2618Q; R —R—13099
a) llum — R - P||um - &y ’ eq ~ 2 L

b) IReq=0,95-U = [=8708A; /Reape=0,05 U = Reape =0,06890 Q

2L 2L
Rcaple = P gax =p ﬂ(dr;;);r)

Loax = 9,947 m

2L
c) R =p ———— =0,02771 O
) cable T[(dz/4)

2

U
d) Piotal = m =107,7 W

Exercici 4

P P
a) n= electr — Pcons= el;;ctr =869,6 MW

PCOT‘IS

ppV
b) Pcons=T

C) Puiss cg = cons(1 - 779) =591,3 MW

d) = Pcv — Peléctr_ch — Peléctr_Pcons 779 =0,375O

Pdiss cg Pdiss cg Pdiss cg

Peons t
= O - 5465 m3
pp




